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QL. #fa& 1] 18124 WriteOutputArea RRRIEE S A HFHE]? (2017/06/05,
Johney)

Fiif 1-8124W 1y APl #345 A critical-section (Lock & Un-Lock)EI#E5K « (AL » b] DUEEE
TEE—{EF RN RA— =G #hd T SRR 1R 5 F At 1-8124W 1Y API >
A& s 18124_WriteOutputArea 25155 Fif— (& pR =52 8 A T80T « RIIE > EaR DL
18124_WriteOutputArea {HEEHITHEIA « [ A DUKRIRTE T AVAZ ZCHE SRS 5 e =0 T
HFfE] ©

ex. (C#iE=

int Start = Environment.TickCount();
18124 xxx(....)

Int End = Environment.TickCount();
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Q2: Hffig M12 BYHETH » FAr[A BEEL 1-8124W Z#E? (2017/06/12,
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Q3: e[k 2-byte Instance ID BYLHH » o] DLEE 1-8124W fE4H R ?
(2017/07/05, Johney)
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1-8124W 4 4L A BLEL 2-byte instance ID AYERH5EEN T » X 1-8124W (E 4 E
FUNEGHTHYEAG  v1.8 IR RHVEIRSENA SR ILTIRE T R 2 oREEE 2-byte instance
ID HJ AB G5 aREYIE L ©

DeviceMet Master Utility ¥1.5
Board Edit About

Total Modules |1 (;ﬁ

ModdeMo [ -] “g/ ‘w ° . m“m‘g‘ (@)‘

, Fimware Yer : |1.50 Master D |0 Baud Rate : 125K bps Master Status : |OK!

Reset!
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Flemote Devices Configuration  Remele Deviees 1/0 Monter |

@ 0]
- | .
1 12

DeviceName : [PowsiFlex 400 3P 230v | Connection Tyge :[Pal Eror Code : .
2 ClassIDft Inst. 101 Attr. 1D |7
Input Data Bytes : Length: |4 Output Data Byles Length: |4 g
™| [ec.i00000; 00,00,00,00; 3 Gel Aibute |
& E & @SEE  BYTE ¢ WORD  DWORD
T | £ |PowerFlex 400 3F 230v 7.5HP
O |:
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Q4: AL RN E SRR /0 BRI AHER » —EHHE—EEE
{&? (2017/07/23, Johney)
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JEE Y44 1 & 3 Master (9 1/0 B RS T -

(1) i /O ST T slF M EEEE N HEHE T -

(2) izl /O B M5 T4KEE Master @ HET T S5(EI2 =+ F] GetSlaveStatus API 253
AUIRAE -

(3) = EM-I“StopDevice” #FENEN“StartDevice” API » iE 5 & offE|:2# Master ¥l
S AR o

(4) ieds CAN bus FHE4 2 IERE -

(2017/07/23, Johney)
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Q5: BT A fE— RS = Hax Vi AERL? (2017/08/10, Johney)
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1-8124W B4 FTA By sttt AR &R} » SR iE—(E 44 A Input fEC R E PR - (i
F “18124_ReadInputArea” m_ﬁﬁiT—ﬁEﬁnBPEﬁﬁquY{?ﬁﬁﬁ St > B N ERE B

Example 1:

ID=2 ID=3 ID=5 ID=8 ID=9

Input = 4 bytes Input = 4 bytes Input = 4 bytes Input = 6 bytes Input = 6 bytes
Qutput = 5 bytes | Output = 4 bytes | Output = 5 bytes | Output = 8 bytes § Output = 7 bytes

Input Area

Output Area

BYTE cSlot = 0; //[figg% 1-8124W #FH{EZE 0§ -
WORD Offset = 0;

WORD DatalLen = 0;

BYTE DataArray[512] = {0},

& T2 =0A] AR AT A s i A &R

Offset = 0; /{5 EZHECEEIEAYES O {E byte FAAELE

DataLen =4 + 4 + 4 + 6 + 6; /[T EFTHRFHIE AEEE

18124 ReadlnputArea (cSlot, Offset, DataLen, DataArray);

DataArray = [iZ{[EFH51 50 & 65 FrA sty AE R - a2t 1D /NHEFS —{E, 1D &K
Rk 1% —1HH];

& N2 AHS: 1D = 5 S ffiyim A Bk

Offset = 4 + 4; [HEEZHECIRIEILNEE 4+4 (& byte FHLGIEAL » LML Ea%(# 1D = 5
FER

DataLen = 4; //%{# ID = 5 fi AERHEE B 4

18124 ReadlnputArea (cSlot, Offset, DataLen, DataArray);
DataArray = [iZ{lH[HE5 L& & 1D = 5 sefiyim A &R,
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Q6: AT —RINBATH sHHVERHERL? (2017/09/17, Johney)

I8124W‘@IEZ£IJ {44 B Output YL IRIEER - Sy B A P Em L T - EF
“18124_WriteOuputArea” i =st ol — B FT A s A L &R I N ERERT- -

Example 1:

ID=2 ID=3 ID=5 ID=8 ID=9
Input = 4 bytes Input = 4 bytes Input = 4 bytes Input = 6 bytes Input = 6 bytes
Output = 5 bytes | Output = 4 bytes | Output = 5 bytes | Output = 8 bytes | Output = 7 bytes

Input Area

Qutput Area

BYTE cSlot = 0; //{igz% 1-8124W fH{EZE O i -
WORD Offset = 0;

WORD DatalLen = 0;

BYTE DataArray[512] = {0},

T N REZA] AT A A s i i HH DR

Offset = 0; /f5EZHECIEEIEAYES 0 {E byte FAAE A

DataLlen =5+ 4 + 5 + 8 + 7; [3} & FiA: {%E’ﬁmuﬂﬂ’]i'%ﬁ

DataArray = [ZE {51 S 00 & R A s oV &k - sl 1D /NHEE—(E,
ID e KRR % — 1]

18124 WriteOutputArea (cSlot, Offset, DataLen, DataArray);

& M 2ZCR] DA 1D = 5 Seffryim &k

Offset = 5 + 4; [HEEZEHECIRIEIEY S 5+4 ([ byte BHIGE A » AL a5
ID =5 Kyt BB AT

DataLen = 5; //Z# ID = 5 (Y ABERHEE B 5

DataArray = [ZE{fi#T ID = 5 gy H ERHEA],

18124 WriteOutputArea (cSlot, Offset, DataLen, DataArray);
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